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Question Number : 1 Question Id : 6589883890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

Which country launched a satellite which aims to deliver the world's first
artifirial meteor shower ?
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Options:
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Japan
ST

China
=

India
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Question Number : 2 Question Id : 6589883891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuesticon Label : Multiple Choice Question
The marine influence of climate results into -
S e 1 (e G 5 = R e W e s e |
Options:

Inicrease in rainfall
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Increase in aridity
AHAT IiE A

Increase in annual range of temperature
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Decrease in anmual ranee of temperatire
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Question Number : 3 Question Id : 6589883892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
On the basis of distribution, uranium resourrces are classified as :
I el 1 ) s ) e < O s Mo e 7 2 B i =
Options:

Ubiquities



Comunonalities
> HTETTIEH

Rarities

Uniquities
AfeaaH

Question Number : 4 Question Id : 6589883893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which state in India is the top oilseeds producer (2018) ?

qd § -9 dded &1 9dred Sdied (2018) 2 ?

Options:
Rajasthan

1 AT

Madhva Pradesh
5 T ELE|

Maharashtra

iy
fo L R

Gujarat

Question Number : 5 Question Id : 6589883894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which ot the tollowing is the highest grade ivon ore ?
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Options:

Magnetite
y TR

Hematite

& =



Linwomnite
. femAETET

Siderite
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” RTETS

Question Number : 6 Question Id : 6589883895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Which of the following industries has the global trend of shifting to coastal
locations ?
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Options:
Textile

T

A

[ron & Steel
GITE 9 vTd

Tea
EIE

Electrical Engineering

e it

Question Number : 7 Question Id : 6589883896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

According to World Bank's Ease of Doing Business Report, 2015 India's rank
among 190 countries has improved from 130 to:
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Options:

125
1.

120
z.

110
=,



100

Question Number : 8 Question Id : 6589883897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To which of the following games HOPMAN CUP is related ?
HOPMAN CUP f=farfiaa 5 @1 famy wat o wrafag 2 7
Options:

Hockey
1. L

Foothall
AT

Tennis

Badmuinton

gt

Question Number : 9 Question Id : 6589883898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Question

Who among the following won the Noble Prize 2013 for Economic Sciences ?
i e W e O e 0 e W e L 2 B s B e o

Options:
Williamn D Nordhaus (US A )
faferem Eho A/s (go tHe W)

James Allison (US.A)
wH U (o THo To)

Z.
Arthur Askan (US.A )
5 MR TRP (o THo o)

Francis Amold (U5 A )
4 IR oS (Jo %o To)

Question Number : 10 Question Id : 6589883899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



At which of the tollowing places First Railway University has been established ?
mere Yo frafaeres, Fefafaa el § 9 ws w2 v
Options:
Chennai
1 T

Vadodara
5 TET ST

Indore

=l-:-l 1%

3%

Pune
i

Question Number : 11 Question Id : 6589883900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

Which one of the following is (in terms of area) the largest UNESCO approved
biosphere reserve of India ?
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Options:

Nilgiri

Arafirf

Nanda Devi
EEACE

Sundervan
Hravd-

Gulf of Mannar

4 TN @ TS

Question Number : 12 Question Id : 6589883901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Which of the tollowing micro organism are uzed as biofertilizer ?
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Options:



Cvano bacteria
m'] ™ FFFF_"' ':ll.'.

Protozoa
T T T

YVirus

3 e

None of the three
I

Question Number : 13 Question Id : 6589883902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Zuestion Label : Multiple Choice Question

Which one of the following Asticles of Indian Constitution provides for All
India Services ?
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g r

Options:
Article 310
ar=es 310

Article 311
al=uE 311

Article 312
:ﬁ’c‘-‘fﬁf{ 312

Article 313
4 aq=ws 313

Question Number : 14 Question Id : 6589883903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which of the tollowing organelle is called the Power House' of the Cells ?
5 R = M B O 5 s e 8 o B 1 e ) e e O = - =4 s = 2 - S
Options:

Ribozome

| VISR



Mitochondrion
HIZE IR ST

Cell membrane
ST {3Teet

Centrosome
0 THTH

Question Number : 15 Question Id : 6589883904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the tollowing parts of potato iz edible ?
afeg @ Frfafad |§ W wE g W ang # w7
Options:

Stem

1 -1

Seed

lf_.. LY

Root

Fruit
SETG

Question Number : 16 Question Id : 6589883905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question
The agro-ecological regions of the country are :
=t B O 3 = 3 ) £ T S A T
Options:
15



Question Number : 17 Question Id : 6589883906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

In which of the following vear GDP growth rate in India was the highest ?
i R A s R s e B e (e | (T 8 e M 11 e S

Options:

2013-14
1.

2014-15

2015-16

2016-17

Question Number : 18 Question Id : 6589883907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which is the nearest planet from the Earth by distance ?
T @ gfte W gl @ wew AwEd Uw B w7

Options:
Yenus

1 BB

Mars
5 HITE
Jupiter
FEfd
L

Mercury
4 T

Question Number : 19 Question Id : 6589883908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Which of the tollowing pair of disease is caused by virus ?
s s s e 1 B 1 1 e e M = =S

Options:

AIDS and Polio

TEd AR mfer

Diiabetes and Chicken Pox

Hepatatis and Tuberculosis
ByEfes afiw So Ho

Malaria and AIDS
AT 3w ey

Question Number : 20 Question Id : 6589883909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which state has density of population more than that of the country ?
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Options:
Tripura

)

Goa
7T

Farnataka
[E e | EeE

Guijarat
4 : 1. 41 ;

Question Number : 21 Question Id : 6589883910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

Varietv of which living things among the following represents genetic
biodiversity ?

Frefforfan & o few wifas g (SifEa emn) @ Bfem aegefre sm e
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Options:



Mango Tree
T P TE

Animals

Habitats
o TP

Plants
qrEY

Question Number : 22 Question Id : 6589883911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

Which of the tollowing is not a process of heat energy transmission 7
5 i 1 M M= 1 B . | 0 | M = et e = s ok L =1
Options:

Fadiation

fafaem

Conduction
=Tl

Convection
BEES!

Contraction
W
gy

Question Number : 23 Question Id : 6589883912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

TRAI regulates the functioning of which of the following ?
TRAI Frefaf¥aa 5 9 s d=mer &1 g #73q 2 7
Options:

Energy

1, el



International Trade

AT SN

Telecom

Transport
L2 Bl ":I Ic

Question Number : 24 Question Id : 6589883913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

AIDS virus HIV first stasts destroving :
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Options:
B-lvmphocvtes

i A - e RS

T-lvmphocvtes

& e SISt

Leucorvtes

T

Thromboyrytes
g ATETETECH
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Question Number : 25 Question Id : 6589883914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In the tollowing question, four words have been given, out of which three are
alike in some manner and the fourth one is different Choose out the odd one :
Fe Wt 7 = T few T & fwm O (el oo o 9eE @ awn e e
2| s @ gema Fifm
Options:

Titan

Mercurys
z &
Earth
rgr:;—_ﬁ

Jupiter
GEEIG]

Question Number : 26 Question Id : 6589883915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Choose one out of the four given alternatives, which mentions the quality
comumon to the three given words :
aw &7 famedi o o gy @ dE R o el o e @ aaen @
Wheat : Barlev : Rice
LS I
Options:
Food
1. YA

Agiculture

5 A

Gratns
'E_ v

Cereals
4 HATA



Question Number : 27 Question Id : 6589883916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In the following question, four numbers are given out of which three are alike in
some manner while one is different. Choosze the one which is different from the
rest three :
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Options:

s
1 511

2600

1754

Question Number : 28 Question Id : 6589883917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Question

In the following guestion, four groups of letters are given. Three of them are
alike in certain wav while one is different. Choose the odd one -
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e
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Options:

. T

Question Number : 29 Question Id : 6589883918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



In the tollowing guestion, a number series is given with one term nissing.
Choose the correct alternative that will continue the same pattern

R s 2 1 M 0 e e ol e = M o e e 2 = i L L
B "t e

Options:
144

Question Number : 30 Question Id : 6589883919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
In the following question, one term in the number series is wrong. Find out the

wrong term :
M W99 H 9= A9 4 U@ UE Ted © | g U8 STd iy
121, 143, 165, 186, 209
Options:
143

1.

165

156

209

Question Number : 31 Question Id : 6589883920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cesticon Label ;- Multiple Choice Question

In a certain code, COMPUTER is written as RFUVQINPC. How is MEDICINE
wiritten in the same code ?

uh Fffaa v 7 COMPUTER @ RFUVQNPC % w49 # forar wimar 2 | g4t ®re
A MEDICINE & o wmr ©

Options:



EOJDIEEM
EOJDEJEM
MFEDIJOE

MNone of the three

Question Number : 32 Question Id : 6589883921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In a certain code, TRIPPLE is written as SQHOOED. How is DISPOSE written
in that code ?

v fAffed wrs § TRIPPLE #1 SQHOOKD & w9 # forEr &em 2| 89 &8 H
DISPOSE &% fermar = 2

Options:

) CHRONRD

5 DEOESE]

5 ESOPSID

i MNone of the three

Question Number : 33 Question Id : 6589883922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

If MISTAKE is coded as 9765412 and NAKED is coded as §4123, then DISTANT
will be coded as

ofe MISTAKE @1 9765412 & w1 & ®ie fiem 1 & a=2n NAKED @7 84123 & w4
H wre ey war & 73 DISTANT w8 fivn @ ¢

Options:

1 3765455

47981ad
2.

3697185
=

47652%
4,



Question Number : 34 Question Id : 6589883923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In a certain code 407 means leaves are green’; 435" means green is good and
'039 means 'thev are plaving . Which digit stands for leaves' in that code ?

v [Aftea e 7 467 @ Aaed Oftdar w0 8 485 @1 Aded BW ammT & A
'630° T Hoela g Wol I8 € | T IS # HIE-ET 3t Uil w W el B 7
Options:

4
1.

]

L

Question Number : 35 Question Id : 6589883924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label @ Multiple Choice Question

Looking at a portrait of a man, Harsh said, "His mother is the wite of my
tather's son. Brothers and sisters I have none." At whose portrait was Harsh
looking ?

e P e PO el e ol e M A 1 0 e 2 = e e o A B
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Options:

His son

AT

His cousin
AT FEN AT

Hiz= uncle
AT H=TE

His nephews
AT AT

Question Number : 36 Question Id : 6589883925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



Cestion Lakel Multiple Choice Cuestion
Q is the brother of R; P is the sister of (); T is the brother of 5; 5 is the daughter
of R. Who are the cousins of Q ?
QRF=E &P, Q@ % T, 5% Wig & 5, R &1 #| Q & w=RT 91E &4
B
Options:
Rand P
] Rug P

PandT

Pd T
g

QandT
g T
S_Q'

Sand T

4, ST

Question Number : 37 Question Id : 6589883926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

There are five different houszes, A to E, in a row. A is to the right of B and E iz to
the lett of C and right of A. B iz to the right of D. Which of the houses is in the
middle ?

AHE O sem-ae N UHF g A | A, B e e E C & arl 8 tg A
0 BB, D& &7 & | ®A-H AW AT A B 7

Options:

A
1.

Question Number : 38 Question Id : 6589883927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



From his house, Lokesh went 15 kmis to the North, Then he turned West and
covered 10 kms. Then, he turned South and covered 5 kms. Finally, tuming to
East, he covered 10 kms. In which direction is he from his house ?

T "YW A 15 fdio S99 @ AW 7| §9E ars 98 9fFEd @ AW 781 a0
(0 e S 2 o B e e e = e e e e £ G 1 2 o s e e B ™ 4
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Options:
East
p, &

West
fFEs

MNorth

South
SIETT

Question Number : 39 Question Id : 6589883928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

One morning after sunrise, Gopal was standing facing a pole. The shadow of
the pole fell exactly to his right. Which direction was he facing ?
U YEE YART @ &g el WY W Y TR e Wel o7 | W @ BE aid-
di =T v e off | fw I | gwa e or ¢
Options:

South
1w

Data inadequate
4 STBST AT B

Question Number : 40 Question Id : 6589883929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



How many pairs of letters are there in the word 'CARROT' which have as many
letters between them in the word as in the alphabet ?
ez CARROT H avHmen & fohaw oiie 2| o o9 § 9o ew g oy aurEre

e

Haadh dg & 7

Options:

.1

L]

Question Number : 41 Question Id : 6589883930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Find the nussing character in the following tigure
w1 sl A o 2id s e

A
&R

<
1.

Question Number : 42 Question Id : 6589883931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

The greatest 5-digit number that is exactly divisible by 100 15
5 aihl W wad a91 Wl W 100 9 Se-did e B o

Options:
OG3o0o0
1



Question Number : 43 Question Id : 6589883932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cestion Lakel - Multiple Choice Guestion

It URCPOMTE stands for COMPUTER, how will vou write RESEARCH ?

afe URCPOMTE, COMPUTER o7 el el 8, o7 3 RESEARCH @1 &9 fore ¢

Options:
1 AHREECES

5 AHREERCS
5 AHREESRC

i AHREECER

Question Number : 44 Question Id : 6589883933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which one will come next (?) in the following series ?
i s B ) B B 7 O g ) O L

B2E, D5H, F12K, H2VIN, ?
Options:

155
y, T

Question Number : 45 Question Id : 6589883934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



uestion Lateal MU.ltiplE _hoice Cuestion

If X% ot Y i5 100 and Y% of Z is 200, find a relationship between X and Z :
Afe Y @1 X%, 1008 T2 Z #1 Y%, 200 8 X UdZ & &/ Hee sa Sifay
Options:

i
1

5 Z=2X

Question Number : 46 Question Id : 6589883935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

If = means +, — means +, ¥ means — and + means %, then -

Ofe + w1 "oed +, — @1 "Adde +, X Aded — Vg + T Adea X §, 74 ¢

(36x4)—8x4 4
44+8%2416+1

Options:

1. O

48]

12

lo

Question Number : 47 Question Id : 6589883936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

How many 3's are there in the following sequence which are neither preceded
by 6 nor immediately followed by 9 ?

b,

e g A [P 3 W AT 6 & Usel A E 5 €1 9 P 918 T € 7

936399937821 639639
Options:
Cne

1y



T+vo

=i

Three

Four
=Y

Question Number : 48 Question Id : 6589883937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cestion Label Multiple Choice Cuestion

The six faces of a die have been marked with alphabets A, B, C, D, E and F
respectively. This die is rolled down three times. The three positions are shown
as:

U OTT @ B Held] @7 Een a0 A, B, €, D, E vd F W afted e o 2 3w O
 FI el 2 A2 o 1 e 70 s B o W =R |

(1) (i1) (1i1)
Find the alphabet opposite A.

A W e 9 T S W |

Options:
B
1
o
z.
3. D
4. B
Sec [IT Cuantitative Ability
Section Id : 65898844
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 24
Number of Questionsto be attempted: 24
Section Marks: 72
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 65898854
Question Shuffling Allowed : Yes

Question Number : 49 Question Id : 6589883938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The LCM of tvo numbers is 1296 and HCF is 96_ If one of the numbers is 364,
then the other is -

ST W] @ oA wAEaed 1296 ® T2 HEeH aedadd 96 ¥ | afE uw e
Sod = T gl T E

Options:
72

1.

o4

144
ik

11604
4,

Question Number : 50 Question Id : 6589883939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

. X - g R - - ;
The sum of two numbers is 45 and their difference is = of their sum Their
LM ds -

o = b s - X g 7 [
G IS =1 e A I ¥ s S = S = B s ] v = X % 1 ) L s O A B0 = 1) T

HHEO SR &

Options:
200

Question Number : 51 Question Id : 6589883940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

A badminton plaver won 6 games and lost 4 The fraction of the games he won
15

U aefre fEemel 7 o el S a2 4 BT SWa &1 Wi 0 el @1 e E
Options:

[E LS

(5] | [t

| s

P | =

Question Number : 52 Question Id : 6589883941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

: o 15
Find the value of 3— :
22

215
T R
22
Options:

T AT ST hifey

3.687

Question Number : 53 Question Id : 6589883942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Caestion
Find the mizsing number
W AT B AT
o T 4

o e A
7 12 9




Options:

o] | Lo L] 2

2 | o

Question Number : 54 Question Id : 6589883943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If 16% of 40% of a number is 8 then the number is -
i U T & 40% F1 16% 8§ 99 e o
Options:

200
1

225

d
[
[$3]

Question Number : 55 Question Id : 6589883944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question
The average weight of 35 students in a class of 35 kg If the teacher is also
included, the average wweight increases to 36 kg The weight of the teacher is
Tfe weT H 35 wrE @ Al A 35 fe & | afa fera e A mfEe s
T airead 99 ggde 36 fEmame 81 = & | frerw o 9w §
Options:

36 ke

36 frmo

a5

o

3
o9

IEFEIE



Question Number : 56 Question Id : 6589883945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Question

The ratio of number of males to number of females in a club is 7 : 4. If there are
34 males in the club, the total number of members in the club is :

dord HOYEET @ EE W AEenst @ W @ aqard 7 - 4 7 9fs aee 7 84 gw
B O ga H wEwl @ fel 0l §

Options:

126
1

Question Number : 57 Question Id : 6589883946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

In a business, A, B and C invested Rs. 350, Rs. 400 and Rs. 420 respectively.
Divide net protfit of Rs. 130 among the partners :

U = A, B ud C 9 Eer we 380, So 400 vd W 420 FEer e an) aefee
H $o 180% I[E @ W AT 8

Options:
hY7, 60, 63

50, 40, 50

00, 60, 6l

44, 70, 70



Question Number : 58 Question Id : 6589883947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

The ratio between the ages of Amar and Kabir at present is 2 : 3. After three
vears, the ratio of their ages will be 3 : 4. Find the present age of Amar in vears :
TAAF H AT U HEN F 9H & 4" arad 2 : 3 ®| A a9 w ars I 9H @
ST 3 4 BOT | AAY W AR S| A H s e

Options:
1.0

4 Data insufficient (siTaeT S

Question Number : 59 Question Id : 6589883948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Twuo equal glasses filled with mixtures of alcohol and water in the proportions
of 2 : 1 and 1 : 1 respectively were emptied into a third glass. What is the
proportion of alchohol and water in the third glass ?

S bt B 8 e R B N s e i A R A O
Forer diven froma & el fien s 2| e frame # siomTed Ud Ol @ s
-

Options:

1.2:3

=]
J

L]
|

Question Number : 60 Question Id : 6589883949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

If the rent of grazing 40 goats for 20 davs is Rs. 370, how manv goats can graze
for 30 davs for Rs. 111 ?

A 20 f&1 & fony 40 awfvar & =w @ e wo 370 & a1 wo 111 9 30 {31 &
fom fapeer amiar = w2 7



Options:

E
1.~

s ]

11

14

Question Number : 61 Question Id : 6589883950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Ram, Shyvam and Mohan can do a piece of work in 12, 15 and 20 davs
1‘Especﬁvélj=.'. How long will they take to finish it together ? |
X, T AT ArES wEen 12, 15 v 20 B H U w W Y ud € | 39 Uy
R4 s e 7 s s L s )| e O e s W ) 1

Options:
12 days
” e
, 12189
14 davs
5 BTN
8 days
5 STE4
5 days
4 5 e

Question Number : 62 Question Id : 6589883951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A rcistern is filled in 9 hours and it takes 10 hours when there is a leak in its
bottom. If the cistern is full, in what time shall the leak empty it ?
T Tl Bl 0 =T H WNT W & o O 10 =T o & olE §9E ad H oy B 2
B e e e A | T s Mo B W s M= e )|
Options:

90 h
;90 e



Olh
01 He1

Question Number : 63 Question Id : 6589883952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question

A watch costing Rs. 250 has been sold for Rs. 300. The percentage profit was :
U Hel fordder @Hd B 250 8, @ o 300H =1 T B | uireT ey e ¢

Options:

1 20

Question Number : 64 Question Id : 6589883953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Caestion
What is the eguivalent discount of the 20%, 10%, 5% discount series ?
20%, 10%, 5% wcer Aftrgl &1 wHge 9eel £ 7
Options:
35



Question Number : 65 Question Id : 6589883954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

A train 100 meters long running at 36 ko/h can cross a bridge 150 meters long
in:

100 #iew of=1 b = 36 [Fio/He ™ = 981 8 @1 150 #iey ofd 9ol & 9% Hee

;]

H feeT WHE e el 2

Options:
0=
1 20 HFos
25 s
:I'_ -: 4=
5 ek XA
15 =
5 15 wFTs
225
17 HERTE
4 N

Question Number : 66 Question Id : 6589883955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

It Rs. 1,200 amounts to Rs. 1,440 in 5 vears at simple interest, the rate %o p.a. is:
Ife wo 1,200 WEWY &7 79 56 § %o 1,440 % a¥EY & @ € &Y % HfEy &

Options:

10%
s

12%

Question Number : 67 Question Id : 6589883956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



The guantity of water (in ml) added to reduce the strength of @ ml of an atter
shave lotion, from 50% alcohol to 30% alcohol, is -

0 fHeilc @My 99 SN & Wgar 9 |1 50% demiEd ¥ 30% SeniEe od B
T @ fan e o (fefo |) @ ArEr @

Options:

3
1.

[argy

Question Number : 68 Question Id : 6589883957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

A boat can travel with a speed of 13 km/hr in still water. If the speed of the
stream is 4 km/hr, find the time taken by the boat to go 68 ki downstream.

U A1d W g¢ Ul H 13 fEH /9 @ i W 9 oY Gwal 21 afe SN @
Afer 4 TRFHT/HS B, A1 9197 @0 &30 H 68 FHI @7 A3 @ H A1d &) o 96y

Options:
2 hours

1 2 ®c

3 hours
> 3 HT

4 hours
z 4 e

5 hours
4, 5 HE

Question Number : 69 Question Id : 6589883958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



In a large retail store employing 556 personnel, approximately 56% are females.
Of the female employees, approximately 62% are aged between 48 and 60. How
many employees are females and aged between 43 and 60 ?
U 9 Ga¥l g§HH H 556 BIHG &, fATH ATHT 56% HAEend €| Jiar sH=al
H U T 62% Bl BH 43 W 60 @ 4™ 2| U FHAIRG B = Gqr Wl
Aigemd & a1 STl g 48 W 60 & drg & 7
Options:

225

1.

Question Number : 70 Question Id : 6589883959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

On returning from a business trip an executive has remaining 250 German
Marks and 473 French Francs. If the exchange rates are 3.24 marks = £1 and 9.9
francs = £1, how much British money will she receive for this currency ?

Udh aanad a9 died @ Ugdng Udh Hegsd & uid 250 §EA O’ 3R 478
Wil he wed €| afg fafey a¥ 324 HI® = £1 UG 99 B = £1 & I B9
U 99 g% g1 & gl fohan fafes gard et 7

Options:
, £125.44
5 £77.16
5 £4828
4 £111.26

Question Number : 71 Question Id : 6589883960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A person lost 10% when he sold goods at Rs. 153. For how much should he sell
them to gain 20% ?

U ofae Tl 9% T 153 Yo ¥ 9ol € °f S 10% 1 =1l Bl & | 91 89 a%g
P foha- To ¥ dd e 39 20% & &M & °

Options:



Question Number : 72 Question Id : 6589883961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

When a shop keeper sold 2/3 of an item, he got the cost price of the whole lot.
What is the percentage of hi= profit ?
Wd UF SHHER TS a5 & 2/3 (31 feE) @ 991 & 91 99 99 9% 6§

AT 9T & Ol & | 993 Ay 1 Ui 94T 8E 7

Options:
; 331/8%

5 662/3%
2 25%
4 50%
SeC IV EConorics
Section Id : 65898845
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 24
Number of Questionsto be attempted: 24
Section Marks: 72
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 65898855
Question Shuffling Allowed : Yes

Question Number : 73 Question Id : 6589883962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question
. 2 d . 400 E ] " :
If the demand function is ¥ =——, what will be price elasticity of demand at
P
p =20 unit ?
Ofe HET BelH, x= B T AT & Arde 7 @ A p =20 g 9§ sl
P

Options:

Less or greater than unity

" (ST W @H =7 wIIET)

Question Number : 74 Question Id : 6589883963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If MR = 15, AR = 20; what will be price elasticity of demand ?
afe MR = 15, AR = 20; 81 o & @& Wiy |07 @t ofre @ gl ¢
Options:

Unitw

1 ER g

Less than unity
gHS o T

Infinity
e

Question Number : 75 Question Id : 6589883964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Couesticon Label ;- Multiple Choice Question
In the long run :

arefeTel i

Options:



variable costs will be less than fixed cost
T ot 1 e R 1 i i e e =

variable costs will be greater than fixed cost
o HiRadl @ e wmrd W osiEE g

there will be only fixed cost
o A fRaw AT B

there will be only variable costs

ey

4 e afEe @nrd BT

Question Number : 76 Question Id : 6589883965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

When o =085, f = 0382 in Cobb Douglas production function, the returns to
scaleis:

A o =0.85, f=0.82 F/d STTH Iead Her H B, o Se7ad & THE] B0

Options:
Decreasing
el A

Increasing
'ﬂ '.-__|': EEHT

Constant
ES2E

First increasing and then decreasing
4 TET GG Bal TR SR B4

Question Number : 77 Question Id : 6589883966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The relationship betwween inflation and unemployment is :
TR T AN @ Ay HEaR 8
Options:

Positive

HHTH R

iz

Negative

> FEITHE



Negative in short run but vertical in long run
o SITTHETA H FLOMCHE T STErbiel H e

No relation

4 I A

Question Number : 78 Question Id : 6589883967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Which one of the following is nof the instrument of Fiscal Policy in India ?
Frefafian § 9 ®M-91 U qaay #/ fai St o sower 98 & 7
Options:
Variation in taxation
;PR H afee

Variation in Govt. Expenditure
o TR W A R

Variation in Public Debt
o WHEARES F | afadE

Open Market Operations
4 Gl AT EOE &l o)

Question Number : 79 Question Id : 6589883968 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Which one of the following pair is nof properls matched ?
fFrfafiad # 9 s g gaten F8 8 7

Options:
Absolute Income Hypothesis —  Keynes
1 e ama g P
Permanent Income Hypothesiz —~  Hicks
o YT ST AR feer
Relative Income Hypothesis —  Dueszenberrv
5 ST ST AN ESEECE
Lite Cycle Hypothesis —  Modigliani

4 O T OREe Aifa e



Question Number : 80 Question Id : 6589883969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Cuestion
If the marginal propensity to consume iz 0.8, what will be the government
expenditure multiplier and tax multiplier :
AAfe W SIEE ugf 0.8 'L AT WREEl = e d= d U o A a
BT Y
Options:
b4
1 DT —4

biér+4
5 5 +4

= =5 T —4

4 & -5

4 4 g -5

Question Number : 81 Question Id : 6589883970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If the demand function is p = 400 — 4x, what will be maximum TR and when ?
A HOT Wer po=400— 4x 81, @7 AEUEan Hahel T 9 a0 & @nfl o

Options:

10,000 unit at x = 50 unit

10,000 3975 W& x = 50 59T &

20,000 wnit
20,000 w18

15,000 1nit
15,000 =&12

1,900 unit at ¥ = 5 unit

4 190D 515 Wit x = 5 518

Question Number : 82 Question Id : 6589883971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



|2 8 ¥
The given matrixisa |3 4 2|
[1 3 9
[5° 8 7]
& g amEd B uw (3 4 2|
|1 3 9

Options:
Square matrix

T aEgfE

Rectangular matrix

ATTATRTY AT fEd

Diagonal matrix

fapm smegfe

Identity matrix

EEAREE I | el

Question Number : 83 Question Id : 6589883972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the tollowing model 1= based on Constant Saving Income Ratio ?
R O N = 7 4 - O 2 R e B R e e e A -
Options:

Kaldors

Phillips
o Tt

Hairod

=

Leontiet

4 fer=1e s

Question Number : 84 Question Id : 6589883973 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



Cuestion Label - Multiple Choice Cuestion

Which one property does nof hold good in normal probability distribution
among the tollowing ?

ESHRa |5 =1 e ro e s A o o S s 1 B e O o e 3 O =

Options:

Mean = Mode = Median

HIER = dgeldh = A

The distribution is symmetrical
5 ST WP BT B

Area of the Normal Probability Curve is equal to one
W WG] 956 @1 S SHTE @ aviEy BT §

The distribution is positively skews distribution
sy B | v 2 L i e o B T =

Question Number : 85 Question Id : 6589883974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Redclitt Comumittee is related to -

e fEeTs HHeT HalET B o
Options:

Role of Central Bank
e a9 W Y |

Export Promotion
RRIDIIEE

Development of small scale industries

oy SE ® e W

Measurement of Poverty
4 TOE T AT W

Question Number : 86 Question Id : 6589883975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

As per Act of SEZ 2005 a Special Economic Zone mav be established by -
Wl 2005 afrfraa & s, faem anfe am e g vied e s owar # 7




Options:
Central Government Onlv
ool Fm i WIEHN ST

State Government Only

G 1 B 2 s 0 1) =

Individuals Only

All of them alone or in partnership

o T B B e A W w W

Question Number : 87 Question Id : 6589883976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Which of the tollowing is not true for MUDRA' Ltd. ?
Ao fafce @ wWew | Fre A 9 @ St F8 7 7
Options:
It iz Refinance Bank

| TEUE ERlE Gl

It provides loan facility to micro and soall units
o TE G o 4 Wy s = e ) b e R

It prepares the policy guidelines and registration and regulate Micro
Finance Institutions
e,

TE eq o<t wxenen & forg -ifoal a9 & 92 99! Uoied ud e e
3 €

Mudra does not provide a card

4qa1mrrm=rﬁﬁ:rﬂ-r‘r%:

Question Number : 88 Question Id : 6589883977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

If a tax is buovant it means :
Tfe U wY Soe § S

Options:



Tax FRevenue increases with increase in Tax Rate
| Y TR 99T T W B O 9gal §

Tax Revenue increases with decrease in Tax Rate

Y TV HTH © WY BT U aei] B

Tax Revenue increases without increase in Tax Rate
o B W D A Aw & R AeE qg

Tax Revenue increases with better tax compliance

ﬁ_ﬁm & &ﬂtﬂ?r-[ I T I ™ B [ =1

Question Number : 89 Question Id : 6589883978 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice GQuestion

Which among the following iz not considered bv Central Statistical Otfice
(C30) under Industrial sector while caleulating National Income of India -

qNT | AENAT &5 § feurg Ot e (WoTHeae) BT VS Ay
R ) e et Ml e e W o 7 i e O

Options:
Transport

TETAT
1.

Construction

o

Electricity

L= [y

4,

Question Number : 90 Question Id : 6589883979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Transter Pavments are not included while counting National Income because
Bt i il 7 1 e s e 1 e 7 1 1 =7 A 2 s W 2 A

Options:



Thev are pavments and not income
B A B, A T8

There is no wayv as to how to add them

i 1B | e s B s 7 e e W =3

Thev are given by government and government income is not included

E2 G £ o S e e e s R e ) e i s s R

Thev will result in double counting
THET TR SRS T 2

Question Number : 91 Question Id : 6589883980 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

WTO agreement on Agriculture is nof based on the following pillar ?
B 7 TEgediode WA = | 9 HE-H WY oY A J8 8 7
Options:

Export Comypetition

e ufied

Domestic Support
BN, HEANT

Import Restriction

AT aferE

Market Acress
AT TE

Question Number : 92 Question Id : 6589883981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
The monetarv base tor High Powered Money is equal -
I oI HET T Algd MR avay 8 8
Options:
Total Foreign Exchange Reserves of REI

L 9o dlo =ige © get el e avew @



Total Gold Reserve of REI
amve dlo ago & wHE T ISR &

24
Total Governiment Securites held by REI
o RO dlo @TEo BTN AT e W] A &

Total liabilities of REI
4 o dio g0 B WA SR &

Question Number : 93 Question Id : 6589883982 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cesticon Label ;- Multiple Choice Question

Arcording to Rostow stages of growth which of the following statement is not
true ?

5 oA o e = | e O e M e e s s s B =7

Options:
There is technological backivardness
[ o 1 e L e e o M ) B

Most of the income comes from Agriculture and animal husbandary
e wh stferded fRT Y aen TuTe W W Bl E

Gross domestic savings are more than 5% but alwavs low than 10%
Wl = a9 5% U #fd® e wag 10% 6 F° ERE

Family is the most important sorcial economic institution
i A y £ L L
TRER ST W TS e e B

Question Number : 94 Question Id : 6589883983 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

From the following which combination is #of matched ?
e 3 o @ A S J@T e v

Options:
Arthur Lewdis Duialistic Econosny
| SR TgEH EREIEE R eap )
R. Marris Managerial Theory of Firm

5 Mo AR B o waE fEETd



Adam Smith Division of Labous

5 WA fE#a] H Pl EHTEA
Chantberlin Absence of Sales Cost
y ArEfer el STer i s

Question Number : 95 Question Id : 6589883984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which one of the following items is wot included in the 'invisibles' on current
account of the balance of payment of India ?

R e s e e 1 e S B O s 2 s 2 e O o A
Aftfera Far e s @ 7

Options:

Foreign Travel
, faser

Transportation

5 T

Loans from foreign banks
5 feeaft dei & smo

Inzurance
4 HIHT

Question Number : 96 Question Id : 6589883985 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

Which of the following characteristics of classical economists is absent in Neo
classical economist ?

Frer 4 9 aenfiee aidenfsdl w1 -0 Aea 99 denfied aefmiE |
e B 7

Options:
MNo Govermurent Interterence
. RN BYET W AT BT

No Monev Illusion

> Hifgd 99 &1 =7 B



Pertect Comypetition
. R IR

Supply deternmines demand
o IR AT T FEiRe By &

Sec WV VA and Language English

Section Id : 65898846
Section Number : 5
Section type: Online
Mandatory or Optional: Optional
Number of Questions: 24
Number of Questionsto be attempted: 24
Section Marks: 72
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 65898856
Question Shuffling Allowed : Yes

Question Number : 97 Question Id : 6589883986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In the following questions, the first and the last parts of each sentence are numbered
1 and 6. The rest of the parts, named B, C, D and E, are not in their proper order.

Select the correct combination given atter each ot the question:
The availability of electric power

would make a tremendous ditference

to be improved

to the countryside

and enable rural econoniy

wom g e

1 various directions

Options:

1 BCED

5 BDEC
5 EBCD

i EDCE



Question Number : 98 Question Id : 6589883987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Inn the following guestions, the first and the last parts of each sentence are numbered
1 and 6. The rest of the parts, named B, €, D and E, are not in their proper order.

Select the correct combination given atter each ot the question:

A man iz born alone
good and bad

1e experiences the
and dies alones, and

COMSequerices DE

oMy N w

hiz actions alone.

Options:

i DCBE

CDBE
2.

DCEB
=

CEDE
4.

Question Number : 99 Question Id : 6589883988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In the following sets of analogies one word is missing Select the word to complete
the analog :

Breeze : Cyclone : - Drizzle -

Options:

1 Earthguake

Storm

Flood

Dovmpour



Question Number : 100 Question Id : 6589883989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In the following zets of analogies one word is mussing. Select the word to complete
the analog: -
Bread : Yeast: : Curd ;

Options:
Funei
1. 111 gl

Germs
Bacteria

Virus

Question Number : 101 Question Id : 6589883990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

In the following sets of analogies one word is nussing. Select the wword to complete
the analog :

Earth - Axds - Whesl -
Options:

Hub
1.

Tvre
2.
Foad

Tube
4,

Question Number : 102 Question Id : 6589883991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the word nearest in meaning to the given word -
Knaotty :

Options:



Mysterious
Terrible

z.
Confusing

itficult

Question Number : 103 Question Id ;: 6589883992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Select the word nearest in meaning to the given word -
Retaliation :

Options:

Compensation
Advance

Revenge

Attack
4

Question Number : 104 Question Id : 6589883993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the word nearest in meaning to the given word -

Lenient :

Options:
Cruel
1.

Harsh
.

5 Find



Rough
4 &

Question Number : 105 Question Id : 6589883994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the correct opposite in meaning to the given words -

Avrarice ;

Options:

i Generosity
Cupidity

z. ’

3 Conservation

Indulgence

Question Number : 106 Question Id : 6589883995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the correct opposite in meaning to the given words -
Radiate :
Options:

Cool
, oo

Abzorb
il
Approach

Tarnish

Question Number : 107 Question Id : 6589883996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the correct opposite in meaning to the given words -

Facilitate :



Options:

Expiat
jy RS

Impede
Further

Assist
4.

Question Number : 108 Question Id ;: 6589883997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expressions:
A snake in the grass:
Options:

Not a reliable person

A secret agent

A very poisonous snake

Anunrecognized enenty
4. '

Question Number : 109 Question Id ;: 6589883998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the correct meaning of the given idiomatic expressions:
Out and out:

Options:
Slightly
1 L EITES

Merely
Partially

i Completely



Question Number : 110 Question Id : 6589883999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expressions:

To steal a march -

Options:

To outshine
To start early
To overtake

To command

Question Number : 111 Question Id : 6589884000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Fill in the blanks with the correct word :

Most of the studentswere ................ at the function.

Options:

attending

1.

esent
o PF

assemble
=

making
4.

Question Number : 112 Question Id : 6589884001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Fill in the blanks with the correct word -

Most of these banks willbe ............. . branches in our city.

Options:



| Seeing

5 making

5 Opening

cuttin
4 =

Question Number : 113 Question Id : 6589884002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fill in the blanks with the correct preposition :

Iwill cometoyourhouse ... .. Sunday.

Options:

o
1.

at
within

fox

Question Number : 114 Question Id : 6589884003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :
The house was burgled ................ the night.
Options:

at
1.



Question Number : 115 Question Id : 6589884004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Out of the given alternatives, choose the one which can be substituted for the given
words -

A remedy for all diseases :
Options:
] Inhaler

Panacea
5 Cough syrup

Medirine
4,

Question Number : 116 Question Id : 6589884005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Out of the given alternatives, choose the one which can be substituted for the given
words -

Words written on the tomb of a dead person :

Options:

] Epigraph

5 Epilogue
Epitaph
5 CPHA

b 7
Etvmolog

Question Number : 117 Question Id : 6589884006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Out of the given alternatives, choose the one which can be substituted for the given
words :

A person whose job is to fit glass into the frames of windows, etc.

Options:



elasvegian
glassblower
glimmer

glazier

Question Number : 118 Question Id : 6589884007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Out of the given alternatives, choose the one which can be substituted for the given
words :
An absolute government by one man :

Options:

hetaerocracy

autocracy
androcracy

barbarocracy

Question Number : 119 Question Id : 6589884008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Identify the part of the sentence having an error :

Options:
] Tell me

what are vour subjects
for appearing

at the civil services examination



Question Number : 120 Question Id : 6589884009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Identify the part of the sentence having an error

Options:
; He aswella=1

are going to Allahabad

2.
for a holv dip in Triveni
the dav / after tomorrow

4.

Sec ¥V VA and Language Hindi

Section Id : 65898847
Section Number : 6
Section type: Online
Mandatory or Optional: Optional
Number of Questions: 24
Number of Questionsto be attempted: 24
Section Marks: 72
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 65898857
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6589884010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

WET gl -t g 7

Options:
arferamdt
1.

atfEremeh

Fferem
=



EICES IR

Question Number : 122 Question Id : 6589884011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

gAH W S agHl g
Options:

ot
1.

e

TRy
e

Question Number : 123 Question Id : 6589884012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Femmer ¥ e q owar @ wfRr g v

Options:

T+ A
SIS e

Tl + T

T + TN

Question Number : 124 Question Id : 6589884013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

o e B L ) el 1 A =

Options:
ST
1.



Question Number : 125 Question Id : 6589884014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

[t 11 s 0 B R e A s =
Options:

=Tal
CERIEE
TR

AHEET

Question Number : 126 Question Id : 6589884015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

FA=ferfiaa 5 9 @ vy F@ 2 7

Options:
A

1.

2. W
q

=3
AT

4,

Question Number : 127 Question Id : 6589884016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

o R 2
£ =R [ e £ < 2 s s 211 e



Options:
g
1.

TS
2

T
= IT

4.

Question Number : 128 Question Id ;: 6589884017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

s R e e e ) e ol [ s B

Options:

1

GREOE
3.

Question Number : 129 Question Id : 6589884018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

B L1 T B 1 b B = 2 2 B 1

Options:

=
-

1.

AT

Question Number : 130 Question Id : 6589884019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

i L s B e R = 2 M 1 s

Options:
LRI
1.

2 [

HI1

SECEI

Question Number : 131 Question Id : 6589884020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

HAT IR o AT w0 g - E L

Options:
] AT

LIRIEE
Z.

A
3

AT
Y

Question Number : 132 Question Id : 6589884021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

'gydl @ UOrEErE o
Options:

T
1

AT
S

fareren
3

e

4.



Question Number : 133 Question Id : 6589884022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

ST W W CHrer B b T8

Options:

SIEE
1.

EI T

3.

Question Number : 134 Question Id : 6589884023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

i E M O T 8 el )
Options:
2, ]

12 s Ear|
4 A

Question Number : 135 Question Id : 6589884024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

B ke Do M o | 4 e e 1 - S

Options:

GE )
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Question Number : 136 Question Id : 6589884025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

ol f&9T B9 ®1 ® 99 99 e 7

Options:
ST

Question Number : 137 Question Id : 6589884026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

8 e 1 W e M s . M 1 e )

Options:
T
P

EEp|
z.
ST

A
4. 2

Question Number : 138 Question Id ;: 6589884027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

ST T AW &, AR gRT [ W @ E 7

Options:
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Question Number : 139 Question Id ;: 6589884028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

O g 417 & 39 B

Options:

, B @9 EA

ST ST
TET 1

=TT (ST

Question Number : 140 Question Id : 6589884029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

T WEE FAT @ oA F

Options:

1qgifﬁ'ﬂ.‘='=rr

4 HEth o OYE are
: afce AT s T

4

Question Number : 141 Question Id : 6589884030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question
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Options:
; Al

5 ITHIN BTGy

TN HET
4.

Question Number : 142 Question Id : 6589884031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

LI e D i S e e i e S
Options:
e
1.
AT
5 Y

AT T

CIEG Rl

Question Number : 143 Question Id : 6589884032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Question Number : 144 Question Id : 6589884033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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